
 
 
 
 
REVISED 1/25/2023 

INSTALLATION INSTRUCTIONS 
PART NO. 41-203R, 41-203L, 

41-203RBK, 41-203LBK 
FOLDING FLAG POLE TRUNK 

FITMENT: CAN-AM SPYDER RT 2020 Newer AND F3 TRUNKS 2017-Newer 

TOOLS NEEDED: T20 TORX DRILL 5/32” DRILL BIT 2.5MM ALLEN WRENCH 7MM WRENCH 

 5MM ALLEN WRENCH PHILLIPS SCREWDRIVER REMOVABLE THREAD LOCK   

PLEASE READ THROUGH AND UNDERSTAND THESE INSTRUCTIONS BEFORE BEGINNING. 
ESTIMATED INSTALLATION TIME: 15 TO 30 MIN. 

INSTALLATION (41-203R): 
1. OPEN THE TRUNK LID. 
2. STARTING ON THE RIGHT SIDE, REMOVE THE TWO T20 TORX SCREWS (FIG. 1). 
3. USE A 5/32” DRILL BIT TO DRILL OUT THE FRONT SCREW HOLE (FIG. 2). DRILL THROUGH TO INSIDE OF TRUNK. 
4. REMOVE THE FLAG POLE MOUNT FROM THE PACKAGE AND INSTALL ACCORDING TO FIG. 3. THE RUBBER WASHER, M4 OVERSIZED WASHER, AND 

M4 NYLOCK NUT ARE INSTALLED ON THE M4-0.7 X 30MM SCREW FROM INSIDE OF THE TRUNK. 
5. INSTALL THE FLAG ON THE FLAG POLE AND USE REMOVABLE THREAD LOCK ON THE ACORN NUT WHEN INSTALLING (FIG. 4). (ENSURE ALL 

REMAINING HARDWARE IS SECURE. IF ANY HARDWARE BECOMES LOSE, ADDITIONAL THREAD LOCKER MAY BE APPLIED.) 
6. INSTALL THE FOLDING FLAG POLE ON THE FLAG MOUNT USING THE M8-1.25 X 20MM SCREW AND THREAD LOCK (FIG. 5). (DO NOT OVER TORQUE 

BOLT OR APPLY EXCESS FORCE TO THE FLAG POLE PIVOT BOLT)  
INSTALLATION (41-203L): 

1. WHEN INSTALLING 41-203L, FOLLOW THE INSTRUCTIONS ABOVE ON THE LEFT SIDE OF THE TRUNK. 

  

    

                       
 

Copyright© 2021 by Big Bike Parts, Inc. No part of this 

instruction sheet may be reproduced without the written 

permission of Big Bike Parts, Inc. 


